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3} Assuming that there is no air on Earth. If a stone is dropped from the top of a

building of 100 Meter height located in Tainan (about 23" latitude), calculate in
which direction and how far away from the building the stone will hit the ground.
Let the gravity constant be 9.8m H’SE:EE. (25%)

4) As shown in the figure below, the ball has a mass of 2 kg and a negligible size.

Initially, it travels around the horizontal
circular path of radius = 0.5m such
that the angular rate of. rotation is
8, =1rad/sec. If the attached cord
ABC is drawn down through the hnlelat a
constant speed of 0.2m/sec, determine

the force the cord exerts on the ball at the
instant #=10.25m. Hint: FEQ =,
where ( is a constant determined from the

problem data. (25%)




